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2011 Trial HSC Examination

Mathematics

Question 1 (12 Marks)

a)

b)

c)

d)

)

Use a Separate Sheet of paper
Expand and simplify (2x — 3y)2 - 5x(x-2v).

Express 2.405 as a mixed number in simplest form.

b2

Express 6 ~ as a surd, with no fractional or negative indices.

Find

. x*4+5x—84
lim—mm———
x—3 x—7

Find the exact solutions of 2x2 -x-9=0.

Factorise 6x° — 3xy —4xz + 2yz .

1
Evaluate | = .
valuate log; (25)

End of Question 1

Marks
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Question 2 (12 Marks) Use a Separate Sheet of paper Marks
a) The sketch below shows the line PO and the line (/) y = 2x — 4, which is
perpendicular to PQ.
Y
/ x
® Show that the point R (3, 2) lies on the line L. 1
(i) O is the point (0, 5). Find the midpoint of OR. 1
(iii)  Find the equation of the line PQ. 2
(iv)  Find the gradient of OR. 1
v) Find the distance OR in simplest surd form. 2
(vi)  Find the distance PQ. 2
b) Find
r x2
i) 3 dx 1
vox +1
fad 2 3 2
. x +1
(ii) — dx
o 1 X

End of Question 2
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Question 3 (12 Marks) Use a Separate Sheet of paper
a) Find :
: d 2
(1) &) when y = :
dx g, }x3

b)

(i) C—;—iJE(GOSQx)

2
(iii)  the derivative of ¢ _;4 .
X

(v) ') i £ = —2x) . Inx).

A circle has centre C and radius 12 cm. The length of the arc DE is 2mcm.

NOT TO
SCALE

(i) Find £DCE (inradians).

(ii) Find the area of the minor segment cut off by the chord DE.

2
Given that iz% = %_— +2¢% and that, when x =1, - ¢ and y=%,
dx X dx 2

find an expression for y in terms of x, with no other unknown variables.

End of Question 3

Marks
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Question4 (12 Marks) Use a Separate Sheet of paper
a) Damien runs a marathon, which is a distance of 42 km. He runs the
first kilometre in 4 minutes, and from there on, he takes 5 seconds

longer to run each successive kilometre. (i.e the 2™ Kilometre
takes 4 minutes and 5 seconds.)

(1) How long does he take to run the 16™ kilometre?
(i1) How long does it take to run the entire marathon?

(ili)  How far had he run after 2 hours 36 minutes and 15 seconds?

b) The sketch shows the curve y2 +x = 16.

y

The area enclosed within the curve is rotated about the x axis. Find the
volume of the solid of revolution so formed.

c) Find the equation of the normal to the curve y = x Inx at the point on
the curve where x = 1.

d) Draw a sketch showing the graph of y =2 + 2sin3x for 0 =x <27

End of Question 4

Marks
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Mathematics

Question 5 (12 Marks) Use a Separate Sheet of paper

a) The figure ABCD is a trapezium. ZABC = ZDAC. AB =12 cm,
AD =20 cm and AC =24 cm.

A B

D C
(i) Provethat AABC ||| AADC.
(i1) Calculate the length of BC.

b) On a single set of axes, show the region where the following inequalities hold
simultaneously.

x+2y-8<0
¥+y° <16
y2x2

(c) Find the values of m for which the expression below 1is always positive.
X +2mx + (3m - 2)

(d The sum of the first 10 terms of the series

log, (l) +log, (iz) +log, (is) +...(x > 0) is 440. Find
X x X

the value of x.

End of Question 5

Marks
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Question 6 (12 Marks) Use a Separate Sheet of paper Marks
a) Draw a sketch graph of the function y = 25— 10x" -+ 6x , for the domain 5
—1 €x <4, showing any turning points and inflections and the end points for
the domain.

b} For the curves y2x3+x2—5x and y2x3+4x—18

(i)  Show that the curves intersect at points whose x values are x =3 )
and x = 6.
(ii) Find the area enclosed between the two curves between these points 2
of intersection.
c) The diagram below shows a regular nonagon (nine sided figure).

<
2 </

(i)  Find the value of x. 1
(11) Find the value of y (the internal angle of the nonagon). 1
(iii} Find the value of z. 1

End of Question 6
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Question 7 (12 Marks) Use a Separate Sheet of paper Marks

(8)  Use the trapezoidal rule with two function values to find an approximation 2
for | 13 In(x + 1) dx, correct to 1 decimal place

(b)  Find 2
d(10%)
dx
() The graph of ¥ =f"'(x) is shown below.
fix)
/-1 2 \y 10 x

@) Give the x values for the turning points of y = f(x). 1
(i) Draw a sketch of y = f{x). 2
(iii) ~ Draw asketch of y =f""(x). 2
@ G IsinG-x)=cos4, find A 1
2

(i)  Hence show that i‘;’f—x—)- = —sinx

End of Question 7
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Question 8 {12 Marks) Use a Separate Sheet of paper

a) For the parabola X —-16y + 32.
(i) Give the vertex and focus of the parabola.
(i1) Find the equation of the tangent to the parabola at the point (8, -2).

(iii)  Show that the focal chord which is parallel to the tangent above has
endpoints whose x values are x = 8% 842 .

b) Given that y = tan(e” ) is continuous for x £ 0.5, find an approximation to

the area bounded by the curve y = tan(e’ ) , the lines x=-0.4 and x= 0.4
and the x axis, using Simpsons rule with 3 function values.

c) The diagram below shows the relative positions of three towns called
Andora, Bethel and Carthage.

Andora

North

120 km

Bethel

150 km
Carthage

(i) Calculate the distance from Andora to Bethel.

(i)  Given the bearing of Bethel from Andora is 100°, find the bearing of
Carthage from Andora.

End of Question 8

Marks
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Question 9 (12 Marks) Use a Separate Sheet of paper Marks

a)

b)

c)

Rhonda takes out a loan for $48 000 on terms where no repayments are made
for a year and then equal monthly repayments are made for a further 3 years.
Interest is compounded at 1.5% per month on the current monthly balance for
the full duration of the loan, (including the time when no repayments are
made). The repayment ( $N) is deducted each month before the interest is
calculated.

1 Show that the amount still owing, 15 months after the loan 2
is taken out is given by:

48000(};:»1—95)15 _ N(1.015 + 1.015% + 1.015%).
ol

(ii) What will be the amount of each repayment (§N)? 3
In the figure below, AB = BC and AE || DC. 4
A
D
C
Prove that AABE = ACBD and hence that 4D = CE.
3

Prove that sin® + 1 + cosf cot® —cosec = 1

End of Question 9

10



2011 Trigl HSC Examination

Mathematics

Question 10 (12 Marks)

a)
b)

Use a Separate Sheet of paper

Solve 3x° + 14x — 24 <0.

The track for a race is in the shape shown, with two semicircular curves, one
whose diameter is twice that of the other. It also has two straights which are
equal in length. The total length of the track is 400 km.

()

(iD)

Using x km to represent the length of the straight and y km for the
800 —4x

diameter of the smaller semicircle, show that y = 2
yis

The average speed that a vehicle can attain on a lap of the track
depends on the length of the straights. Given that the average speed
that a certain vehicle can attain on the track is given by:

Speed = 100— ((?%)3 +I6£(V)]

find the length of straight which maximizes the speed of this vehicle.

Question 10 continues.

Marks
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Question 10 continued. Marks

(c) On Joshua’s 20" birthday he decides to start investing money for his
retirement. He plans to invest $30 at the end of each month for the next 40
years so that he can retire on his 60™ birthday. The interest rate remains at
8% per annum over the 40 years and he will be paid interest monthly.

(1) Show that the amount he can expect his investment to grow to 1s 2

given by the expression
30 +30(42) +30(1:2)° + 30652 oo 301"

oy
(i1) After 20 years he decides to increase his monthly investment to $60. 3
Find the total value of his investments after 40 years.

End of Examination

12
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STANDARD INTEGRALS
n 1 Fs| .
X dx = X on#E=l x#0.1fa<0
n+l
(1
—dx =inx, x>0
J X
. | -
e® dx =™ g#0
el
LY
( 1
cosax dx =—sinax, az0
_} «
. 1
sinaxdx = —a—cos ax, a#0
i |
secax dx = Htanax, az0
) .
i I
secax tanaxdy = Esec ax, az=0
o
1 I _x
f s dx =—tan"' =, a=0
a“+x a a
1 . 1 X
J-,———dx =sin I~—, a>0, —a<x<a
{2 2 a
vat—x
1 Ty
,——?dx =plx+vx—a‘}, x>a>0
\;'..1'2 —a

j L ~tn{x 432+ o2

)
+a”

NOTE : Inx=log,x, x>0

13
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SOLUTIONS

Question 1 [ Trial [1SC Examinafion - Matbematies 2011 A
Part | Solutlon tlarls | Contment
| 6 = 3wy —dxm € 2y = 3u(vop) - 2(Te -0 2 ;!f:; rgnrﬁal
= (2 - 3 —22) A
1 for
completing
resuit
g) iog,(%] - Iog,(S'zj 3 i for answer
=20, ( 5}
=2
nz |_

By - - 2 = 4 2 e O -3
= 9,1'2 - - 23y
B - i
0,565
.
(LSRN
i for
evaluating
_ answer
o i Tmak for
either of fast
two fines
B =84 o 1N -T7 2 1 for
= i Sl . sl Exctorisation
i | A
= .s]i-lra w1 Sufranrgidg for answer
=3+12
=135
el =9 2 Tior
. formula or
2 Q=0 compietion
T of square
- bob” —dac
: Za
I N Ty _ 1 for vegult
D) et
g =4J?_3 Sclfufon
| Question 2 [ Triol HSC Exons - Mathemalics 2011
Part | Selution Marks | Commeni
a) y= x-4g 1
@ Substitute the point & (3,2)
poi
RIS = %(3}-4
= 64
=1 = LHS
~ Rlieson y= 3x—4 .
a} Midpoint of the interval joining ~ 20,5} and R(3,2) 1
(i) o D+3 542
Midpoint = (T’. —-—2—-]
- (l 1
2'3
= 1 |
= [1 §33)
ay ] | for
(iii) PQis perpendicularto y = 2v~ 4 which has pradient =2 gradient
5 i comrect
gradicntof PO = -
»Intercept =5
Equationts p= ~by+s [xedpe-10=0) Lor
2 equation
using
gradient
a) Gradient of the interval joining  {0,5) and R(3. 2} |
{iv) -
m=dzl
Xm Xy
)
=32
3
= . 1
) Leontids OF 102 WNEIVE) JOuing L0S) SH0 ALS, 1) 2 1 for
v T < disiance
A=l -x ) + (=)
=f3~ 0 e 2o
=.e+0 o o
j';“(' ;in?i-c:- - 1 for
=418 Sy s shnplfyic
N o] je




Dediien 3 931 M
S Pavt | elniica Efnis | Tornment
z i & oeept either af
subsiitution ke final 2
e e m in formula AnEVIEET SO
Parp dise = & '11"' il ;:_:1 l.ﬂm‘i_l.m”h
IS =
_H-ts-g o
2y angwarin
afther surd
| form
T Eeoeat either
) answer
It} di= = Doinycosy_ = — S DB
g)ﬁ) 4f el 5= (8 + 413 E mark .
= e K o eomeofly
— N B 72 et
b Al do= o Tk for A ) /-.'f;.:m* s
(i) T v = xR dy integral ] e ?uaﬁ’@:}r
| etfe er
- [.\‘2 +.\-"]2 e
T ¢ ards
43 : mark for i svracke So-
= (2.0 (L evahuiation ST 4
(5-31-(-1) ofintegrl PREECECETEE 3 bl -
=11 1 s 1 el y -
ti-(-4 G2 HredE) 79 =6 -2, L e @ -2t
- n [« X7 AR - . N
= =24 (3 -Diak
/12
o4
[
l(:l}} Arciength = 78 =2xcm 1 aceepd Bo°
1 120 = 21 rz:h:fmmy
T
8 12 _ 6
Question 3 | Trinl H3C Exanination - Mathematt 3013
Part | Solution Marks | Comment
] Areaofsector = 210 2 1 mari if either
(] 2 sector ar
3 . fringle ayea Question 4 { Telnl HSC Examination « Mathematies 2011
= 5{]22) [g) caleulated Tart | Solution Marks | Commaent
= 127 em® cou;ecf_ly . a) | This 15 on Addthmetic series with 1
Aot (o= 2] ) | a=4x60=240 d=5
Aren of ADCE = % a.d.sinC =4 .f.a.’ég.‘— £t Want the 16" term
. —E—;"—b‘“ i, =a+{n-14d
i =72 (F -4
= %(13—) sm[%} 2] =2404+15%5
; L = a7 -2k =73i5gec
=§.1-14.5cm’ =5 min and 15 sec
N o7 2 marks if the a) Want the sum of the 42 . 3
= 36 el - area of the () } s =B+ (n-1)d)
§ - 5 3 |segmentis "2
Azeaof segment = 12m—36 cm Fovnd comrently
9 dy 2 +25 3 ¥ mark for = 21480+ 41 = 5
FERNCE integiation to =14 385 seg
= ay get ar =3 brs 59 min 45 sec
=2 i@ d:rd 2) | & hours 36 minutes and 15 seconds = 9375 sec 2
S isregarding .
g2 24 constaus. a0 s.=lza+ (n- 1)
1 for sub
When x= 1.%’:’_ =4 9375 “'3:{430+ S-1)) into the
sHn
) 18750 = n(475 + 5n) formula
2 =
=2 1 mark for C, 5y + 475k 18750=0
Hd_!éz. o e e : # + 951 —3750.= 0
a . = 29525025 ¥ 15000 Lior
p= -2y v+ £ G - solving
- — —B5x135 the
1y = & 2 D[/ aquation
Ty =30 or ~125 i
2 Iegore tha negative, so he has travelizd 30 Lyg,
“am{l) + £+ 21+ [ }max:}:‘i.'m- A T
] . - Tmree "y »
€ oA i . Archieitie
R R o s
G==2 Eﬁ«
/3




| Trlal 13 Braminaidon - iniismaias

o 5 | - Fiathemader

Tr

Selution

isils
B _1!3 +xM =16 2
Linrirs are ffom -2 10 2 1 6or
] integral
F=q J Yy
.2_ = 4
ﬂﬂf 155 dlx o Zu‘r./ (=il @i
dy 5
= ﬁ[ lav— 1 for
nuerical
- ﬁ{ s value
=388 5 160.3unirs®
) »=xlny 3 i for
derivative
ﬁﬂ.\: Lo '
ax x
=1+ v
whenx =1 i for
. _ aradient
y=lll=1x0=0 of normal
dv .
L=l o
o [
=]
Gradient of tangent = |
Gradient of normal = -1 1 for_
Normal through {§, 0) with gradient -1 o equation
p=0=(-1x- 13 =
y=—x+t1 5
) y =2+ 2sin 3y 3 3 maks
¥ with1
A deducted
if period,
amplitude
ampatude,
or
3 position i
et
neconrest,
v
Questlon 5 [ Triad HSC Exnml - Mathonitics 2011 1
Part | Soluilon Marks | Comment !
b) 3 1 for each of
the
inequalities
with } mark
taken off i
Wrong
border uged
\ onany of
/' the regions
|
\-
c) | Coefficientofa=1>¢ . 2 1 for
Expression posilive if A =b* - 4ae <0 correctly
je dm —14.!.(391-1) <0 substiuting .
4’ - 12m+8<0 inte A i
m'-3m-+2<0 .
(m=2m-1) <0
Ref polntg wem=1 and m =12 1 for comect
lem<2 solation
d) Slogay — 2ogx - Hogw- .= 4O 3 I for
AP with a =-logx . d = <o, recognising
Sn=%[2a+(n-1)d} AP with
° comrect a and
e Pl-z.Jagy x+ (20 ~ 1){ log, Y] dvalues
) i for
0= 5¢ - 1 foga coracty
85 =-11 logax substituting
=-log:x N into Sn
3= by formula
¥ o=
1 for corract
soiution
/12

Fart
a)
(i " = 12 cm - 2
D ) &
T ~ anrle
- \ aquivalenzes
2 A
» m."‘ 24em .
//
’ - - - et T
] « v2asens for
the above
In A4BC and ADAC
LABC = 2DAC  {uiven)
LBAC = 2ACH ¢ altemate angles on | lines)
S 2 ACE = 24DC (angle suin of triangle)
v A4BC || ADAC ( corresponding angles equal)
a) 2 1 for correct
Gt -i_g = % {vorresponding sides of similar triangles ““”‘“r_
E E preportion
% = % a% ape fit the same 1atio )
BC= 20 ::,1- ! for answear |
BC= i0em .
i
Question § | Trial HSC Exarulnation - biatl 2011
Pari | Selutien Marlis | Comment
a} 5 1 for
[¢3] p= - 08 + B mening
. a polats
om0y 46
2 | N 1 for
G -3 -2u 6 siossifying
= 6y{e—3)-2(x-3)
= 3(3v - IHy-3) Hor
inflexion
o= Owhen .\'=% and x=3
lfor
»" o= 3y-30 diagram
Test ruming points x -%. ¥'= — 18 Local Max 1 for end
peints
x=3 »= 16 Local Min
M= Owhen x = l§- ¥ = -85 Infiexionsince
change in concavity.
ok
i Max
45
, 3177
) ¥ i ER
N 4 -8
Inflexie /
el
12, a.sT\/
[C RN NS )
Min
b Solve simuliansousiy i 15r
it . squation
1forx
3 values
-+ 1=
x=3Hr-51=0
f=3 o x=%




RS 2 LTl fasiden » Biatheasdee
Part | Seludon
bt i . 3 ¥ for
tiiy | Area = l i R EE S I TETEE
s integretion
-5
= 3; s ]z:| N
= m_fasl
!”""'E 127}[
= 4% S units
c_) 1
(i
/
//
g
//
x =180 ~(62 + 15}
=gg°
c)_ Anglesum = {9..2)x |50 1
G = 1260
intemmalangle = gge_o
»= 10"
c} - 180140 ]
(i} " 7
=20°
/12
Questlon 7 | Trin BEC Examination- N 20%%
Part | Solutlon Marks | Comnient
b) 2 2 marks totai for
(ii) - | Including
4 i taming points
and joflexions
yea)
1 mark fora

A

e

sketch with one
OF LW minor
EFTQLS

1 Positionon y
., laxisandx

L1
¥ 'J"{r)f’

{ intereapts 18 not
important

.
b) + ' 2 2 marks total
g [ 4 i
\ H : X intercepls are
\ ! ! Smportant a4 2
\ ! ! cand §
Y i : |
\\ - { L mark fora
~ -7 sketch with one
R or two mineT
z =+ . eryorg
e ) '
-
!
cl A=x
6]
c} Latp=cosy
i) =sinfg — ¥}
Az

T Y idnds T dmment
e i coireel
substituiion fio
A trapezoidal rule
(e + Ddx =2+l
=770 1 fc-r.cor.'s\:l
solution,
al 2 * 1 mark for
Giy | Lety=10 y=git
= g
¥ = e 1 maik for
=M1 COUVECT SRSWer
B | Tuming points cceur where I
(B r=wl, x=5 and x=I0
i
;
uestion § 1 Trial HSC Exnmlnation - Mathematies 2011 1
Part | Solution Mavks | Comment |
A A =-lgp 32 2 1 each for
)] 5 ) vertex and
PR R C) )] focus
Vertex (0. 2) focat length 4 and concave down
Forus {0, -2)
a) ¥ =gy 32 2 %
(i gradient
} for i
&quation 1
Equationis p+2=-1(x—8)
¥+2= —x+§
p=E -yt 6
a) yri=-lx-0) 2 T for
i) — solving
. - simultanes ¢
Sub into parabola usly
N ==16( -x-21+32
. ( i forx
X =-1ér-61=0 values
v= 165236 + 256
“ i
P15
h 2
: 2
y=5=8f3
vl I/ ‘. I i using
h=04 A= :{- frsum of ends) + dpmiddley} co?fcu e
funciion
t=-04 - “T“ BA-0A} + A0.40) + A0 celnes
= 8 sse)
=i =2.62{ 2 decimal places} 1 for sudp
into
formula
correcihy




Quesilon§ . EZ T Question & I TsialHSC ation - Biat N EI
Part | Selutlan Mavks | Centment Pa | Soluiken Riar | Commens
q = " 3 = T rl ks
(ci}) AFT= 120 AS -3 1200 430 eos 125 - zl:o]sqlng::’ﬁ 3} | Foythe first year interest accumuiates with no payments so nevw balance affer 2 P mak for
i = () | 12ismiven by atteinpt (o
: 1 for Ay = 43000010157 ;biaiq series
=20 {nearestmeiel comeat = 57 330.6% i;.';;{_::g
RN caleulation . - Bh
3 - 3 T farusing Afler 13 months 4, = (450001013 - M) v 1015 manths
(i (S;ni::_le = 480001019 - Lo1sN 2 marks if
s i 1o I cosine molated
sin 4 = 1304n 123 ule) 1o Afier 14 s 4, = (45000(1.013) - LOISM_ M) x L0135 B v
- find A . s P
- 051218 " = 0o US40l N LSy esuil
1231° (nearest degree) o Affer 13 monts 4, = (4500001015 ~(LOIS) W~ LOISM) - M = 1015
Bewring =100° + 31° bearing 1 = 48000(1.015)" - (L& SN~ (1 O15°N - LDISN
s from (hat 3 o3
= 151 e = 43000(1,105)"* ~ A(L.B15 + 1015 + 1.015%)
71 a) ) 3 i mark for
i Afier 48 months A, = 45000(1109Y - M1.015 + 10157 + obtaining
a7z T expression
oo, 1.015 +1.015 ) for 48
Afler 48 months 4, = 43000011055 - M1.015 + 1.015° + manths
o 10155 - 1,015
: " _ ¥ for
Loan is repaid afier 48 months so 4, = 0 . oblaining e
48000(1.0L5)" = M1.C15+ 1,015+ expression
55 " for sun of
o, L0157 + L,015™) series
LOIS + 10357 + ... .L0IS™ + 1.015% 5 2 geomenic
serieswith a= 1.013,r = 1.015and n=36
sy i
Sum ofseties = T 1) '
r=1
i
- LOISL0Is ¢ | Lforfinal
1.015-1 H resule
= LSO 18- 1y .
013 i
23600010151 = N[____i-mﬂ '-‘)‘5‘16'”) ’
. A15
|
ey 0.015 I
M= 45000().015)% 001
L0015 -1y !
= §2044 {to nearest dollar.) '
i
Question 2 [ Trial HSC Examization - Mathematics 21 Question 10 [ Tvial HSC Exami = Mathematics 2011 !
Ta | Solution i Mar | Comnment Part | Solution " Mar | Comment
ri ks t ks
b) E 3 marks for ] 2t v -24%0 2 1 for
E congruence . i factorising
! t mark W'+ 18w -dr-2450 |
. deducied if . _ 1for
i any of the B> G- der 61 50 i conrect
B | tlhree steps (Gr-dHxr+E S0 solution
negded =t .
] Gncluding Test between v =3 and y=-H
reasens). or H
. the x=0 350 Tre ]
i conclusion e f !
E [ are missing. Sy 53 4 i
c |
M AABEmd A CBD .
£ABE= ZCBD  (verticailyu opposite angles) H
LAEB = £BDC (Akemate angles on || lines} i 1 mark for
AB= BC (given) statement as
) | to why
o ABE & ACBR (445 : 4D =CE
AE= €D .
= ADCE is = paralleogram { A pair of opposite sides parsliel and equal)
AD = CE {Other pair of apposite sides of Wgram are squal)
<) : e cosd _ | 3 3 marks for
sing + J + cost coth — cosect = ging + | + cost) prsiabe fall proof
= sin’% + sing + cos'5 — 1
sing 2 marks for
- Sin'8 + cosd + sing = | partial proof
Ginth
= LFsini-1 1 mark if ane
sin® or nwo
- relevant
= & equivalences
sing are stated
=
/12




B PN 1 ) 1 dor
il FEoteEA aquation
P=i fer P
00 = 2y 2 % +
500 =y +qy+ 2y I for
N . making v
200 = dx ¥ Sy e subject
p =50
3
] - L3 L T } forsuby
G| Speed = 100 - [ { ET} oy ' ] itts pr..-:i
N Cyllanin
- _ X o 800 - dx
s - {55 (#5)
- _ ¥ 00 - 4x
§ 10 27000 [
45 . at L4
i 000 [k
2 i for
IxT 4 ing
700 g = 0 g"_‘?’”ﬁ )
erivative
= A, 27000 and setting
18 3 =0
= 20006
X = 2000
x= M7
d5_ _ 6y . X
= 77000 3R00 !
whenx = 44.7 '
4. _a47 S
€3, 4T . _g009777 Teor ]
af 4500 findingx  *
/. Local Max when x = 44,7 and .
showing '
max N

&

oa

[al

)

Ler A, = the amount ofthe investinant 2fgv n months 2 1 mas]: for
40 vears = 480 meadhs corvent
A= 30 (100017 euprassion
30100717 ! for Axn
Aazo= 30(LO0TY™ 2
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